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Types of Energy 1&6 ASN T ATONAC
1. Calculate the height of a 0.500 kg basketball at rest if it has 7.00 J of energy.
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2. A 70.0 kg astronaut is on Planet X. If he has 2.00 x 10° J of energy when he is at a height of
5.00 m, what is the acceleration due to gravity on this planet?
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3. What is the mass of a medicine ball that has 50.0 J of energy moving at 4.50 m/s?
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4. A spring is held Vertlcally and a 3.00 kg mass stretches the spring 0.500 m.
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B) find the amount of stored elastic potential energy in the spring
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5. A spring is stretched from 0.0200 m to 0.0900 m. Find the amount of energy stored in the

spring (k = 5.00 N/m). +
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